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(1) Het TegfEehd 100 Ifar wo0 7R, Steari-t yearEt 3w fafevae geara wwarget an yeyfcsd w6
U39 3R Tehen TEla AT @ e S 71 qHE T HIE QY GBI 8 A THAsTRRgd

(2) YR THYET-SFHT & eI T ¢
7 Foraan sty forgman. R S 5
Fgreh TR

(3) o DU JIYFIHT hHih TASAT ITAHha [Ffimse smft qwieratial go-vmmn 7 faatar g #man.

(@) () I TR Telsh TETe 4 TR I gafaeht /g @ 1, 2, 3 3T 4 318 HHE o ITRa.
1 AR AT gafa I ITE FHUh ST AhAI YOS AT ST ARt TG HET. 3T
TR ITRULRRGR IAGHATSH FHE HAMT a1 Hafd STRUTHEH BRIThd Hed eAifaal g Jr=i
TS AT, TRNAT Feh HIGAT ML KTeTu= FTord, YFet a1 yge 9+ a7u 4.

(@) omanma v faweaETEt wet atrar usht rean fafda e . @ favaren yeew gee wet
TR U ANA A DU AT ATg. e el R wdtdier svAmed
UGN HaT 31 hRUNHe et Fmivn sneare wah ofeam™, G |afea oo
gt ATETEr TYATSf ATgA ugTaT.

(5) W I THW TOT TRA. AR Hd WD IR arefld. TEge g BN ATE et gaan U we
e IR e digaEd. HAN T QIS0 S 3R 94U TETET U Hal JieediE @e 9% A
ATt Yo TYATehS TBTE. 3T THR Wac=al TRATld TEeed a9 e Ulkeard &3 o[
FeeTedT THIHS TV HIETH 3.

(6) ITURIRA Tehel TG horel I @ISl IR AT, ?@WW@@WW%@W%WW
.

(7) wEgd TS STRUMHS eaich HaHT INGTRISAT STUATTHRA e a1 I o1 foe et aa=
. ST WAl ST Wisfaeedt Yeieh gehiear IUHIST Uk qatdivl IUT TSI HuATd

Aefie’’.
TS |
T IvuRRETd! sanTH fafga el e auuda € yvAgieae smEnel Ao sd  udiesmena Suganren
TRPETS! ATaRvETE UAT Aq oMY § 9@ suvda gat Uygfeache /e, fhar wex wvAgftasdier @ e
HIVTETE TqTa Wedel 9 STTeasTuuy HIvedTdl Saate R0, qea Tiag #0r g1 et g vt el sRvur=an
Y A W herean “wdiame g ewsnEn ufasy svareaa dffew-82” aHiern agdigen
T Tafeld HEUTEAT TAGTHR FRATS FUATT A5 F IS qard] HHIST Ueh FuTea] drrararea Arfor/ fan sua
Teh TR {ohirea S8TeaT RIge Ut gide.
aHa g aeAutraTet ffda et G duvanenel € wegierert smftgaunt A 71 gEt T SHA a9 awond
A FTATTEAT FHAGETdhT, THE THEeaT THadhagaih! e aigl e Hadifaeg Sea At amgan
AT HOATE Aot o St skt FH1ere am gised. "
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1. 4 fedier 1947 TS Bewene Ts9 godl TUm™IG qdedehl vl femmeR afe T @@= 9y
FHOITET T Hedl ?
(1) e (2) ferreR perspul
(3) fomrer e R : (4) FIY qER

During the freedom struggle of the Hyderabad State, who from the following
made an attempt to assassinate the Nizam by throwing a bomb at him on
4" December 1947 ? '

(1) Devisingh Chouhan (2) Digambar Kulkarni
(3) Vinayak Vidyalankar (4) Narayan Pawar

2. gebie A A

(1) fram afw -

(2) e HfeT - A=

(3) fersu dfeT -

(4) Fraren $a gt s@es TH Al - Il T
Find out the wrongly matched pair :

(1) Shiva Temple - Bhumara

(2) Parvati Temple - Nachha

(3) Vishnu Temple - Tigawa

(4) Cave Temple with Shiva sculptures —  Udayagiri Hills

3. e qeRe fig PElR @ TSR TR T s 39, T e 9
ared 7 e HMHa M Gu G . G T AN, Gedlaeal 39 HId MW el
T Sfera AT, fohar Tqel geefier or® et 3N 3™ M Ushet ATEY. I AT hivTeA

T 3T YR IPW et AR 2
(1) HeEmEege (2) WA
(8) fasAR (4) FTATRR

This state and city attracted many of the Hindu refugees from the North. From the
contemporary accounts it appears that the city was rich and very beautiful. ‘The city
is such that eye has not seen nor ear heard of any place resembling it upon the whole
earth’, says Abdur Razzak. Which city and state get referred in these sentences ?

(1) Mahabalipurm (2) Cochin

(3) Vijayanagar (4) Travancore

FoeqT HINTSE ST / SPACE FOR ROUGH WORK P.T.O.
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4. 1930 <A1 geRTATE T HEMHEHS JEeTaehl i STot ?
q.  JTENGEICHEE HUSARuTN H&al He.
F.  Hag RO ST 3q91d 30 — 50% haTd Shefl.
g Flia vd wig .
(1) 1 i & 9 armea (2) I Rd
(3) & onfer = A 3R (4) 31 37T & I 3R
What was the net result of the Great Depression of 1930’s ?
a. Population of Bombay decreased.
b.  Number of textile mills in Ahmedabad decreased.
c. Bombay mill owners reduced the textile workers’ wages by 30 — 50%.
d. - All of the above are correct.
(1) aand c are correct (2) dis correct
(3) b and c are correct (4) aand b are correct
5. “Rggfm dwar g o Rer avi o o 2
(1) wgre meh (2) =l BIREY
(3) AR 456 (4) o FEIGL €Y
Who described Jinnah as “the ambassador of Hindu-Muslim Unity” ?
(1) Mahatma Gandhi (2) Sarojini Naidu
(3) Jawaharlal Nehru (4) Tej Bahadur Sapru
6. IS AT TEHA Aok ! foraet. df arewer fifgee sfoRdld gehedTed T

T A MR, T I M T ff Ml aresderea diadia queE @ fowmlt amge.
TR YRATS &1 hIvar eigeh 3178 2

(1) g™ (2) wE

(3) owEHy (4) foemEed

The earliest Sanskrit plays were written by him. They are really only fragments of
manuscripts on palm leaves, and they were discovered, strangely enough at Turfan,
on the borders of Gobi desert. Who was this Ancient Indian author ?

(1) Kalidasa (2) Bhasa
(3) Ashvaghosha (4) Vishakhadatta

el BETATS! ST / SPACE FOR ROUGH WORK
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7. 1926 Tl a3 HRcHSSIA T 3@ fgue Aied i UHSHIET HEHRR
HISAT STATaA TOA, T AT ST WU Befeh TRUI TR, :
(1) ST STt

(2) A R HF.
(3) T JATgd
(4) THEIR FERE I

In 1926, proposed a bill in the Bombay Legislative Assembly, by
which the ‘Gram Joshi’ would have no right to claim his fees if he was not invited to

perform rituals.

(1) Barrister Jaykar

(2) Rao Bahadur C.K. Bole

(3) Bhaskarrao Jadhav

(4) Damodar Sakharam Yande

8.  Trel Ag Faielt =g oAt FA wivlt Heft Bt 2
A, IR T TG YN A IF FHH! FH.
q. O SR HEE e
%. 1878 =1 I HETI.
g, fordlar ScUTEATERIE AT X g <Tehu.
(1) e de
(2) < foed
(3) WaRw
(4) @S Hehied
Whose obnoxious acts are mentioned below ?

a. Lowering the age of admission to the Indian Civil Service.

b.  Imposition of restrictions upon the liberty of the press.
c. The Arms Act, 1878.
d. Abolition of duties on the imports of British products.

(1) Lord Lytton
(2) James Wilson
(3) Sir Lawrence

(4) Lord Macaulay

FTTgT HHTATS! GIFTT / SPACE FOR ROUGH WORK | P.T.O.
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TAATHT IV GH 1 0 IeEaT=A RS fowg B 2
. TSI gudier SHS TSTehru)

%, dig
3. W

(1) & o o1 §

(2) hed 3T I 8

(3) ad & I

(4) e 3 M %

Which two classes of people from the following were against the organization of a
Ganapati festival ?

a. The liberal Hindus of the School of Ranade
b.  The orthodox Congress politicians

¢.  The Buddhists

d. The Jains

(1) aandbonly

(2) aanddonly

(3) bandconly

(4) aandconly

10.

o, et o 3T T@ed T € T et Hioen s el g 2
(1) oI HeiE feehs e

(2) IHEHGTRE AT THAG 91

(3) R gmE i

(4) U HIEUS TR

Who from the following took various names such as Raosaheb Peshwa, Bhausaheb
Limaye, Ganesh Keshav Limaye, Bhaurao Limaye, Bahusaheb Kashinath
Khasgiwale, Rajesaheb, Vithal Chhatre and Balwant Jagadamb ?

(1) Sadashiv Nilkanth Joshi of Pune

(2) Jaysing Ramchandra Pawar of Ahmadnagar

(3) Damodar Bhide of Nasik

(4) Keshavrao Vakil of Pune

HoedT HHTATS! TR / SPACE FOR ROUGH WORK
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11. gt s guea et Reamardt yeom svreft gt ?

(1) o Afger Fur (2) W Tz g

(3) T g foirg ofaifee (4) Rd it AEMSS

Pick out the association for women which was the first to be founded by the women,
from the following.

(1) Arya Mahila Samaj (2) Bharat Mahila Parishad
(38) The Muslim Women’s Association  (4) Bharat Stree Mahamandal

12. o = wiedia i 3 Y AT §0 TR @ o = wee A, ‘8w

T e oy Y rew T srariidl e Samen ashid o+ <d.”
(1) AT Jew (2) g9 =g 9
(3) wren e , (4) T

, Cripps’ best Indian friend, was so disappointed that he confessed, “It is
sad beyond measure that a man like Cripps should allow himself to become the
devil’s advocate.” '

(1) Jawaharlal Nehru (2) Subhash Chandra Bose
(3) Mahatma Gandhi (4) Jinnah

13. Y& HIv faum s R ? |
3. 2014 T YRATSA ARATT HISUERIdIT TagHTE! THaTdl Hald 3q7 18U 9eud 66%

el
9. 1 ydffen watg Wer smewer 1984 wefic gar, &Y €197 GAR 54%.
(1) Has A 2) Sas

(3) HTEIA . (4) < T

Which one the following statements is incorrect ?

a. The perecentage turnout in the Lok Sabha elections of India in 2014 was the
highest at about 66%.

b.  The previous best was recorded in 1984 at about 54%.
(1) Onlya | (2) Onlyb
(3) Bothaandb (4) Neither anorb

FHoedT BT SR / SPACE FOR ROUGH WORK ‘ P.T.O.
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14. THcll UH4 1893, e el Tuiadt TuIe ErEsiae IeEaTd A H.
(1) YEHHTAT 35 HOTas
(2) YHHAIHTAT HgH auaE
(3) oA g yeieeA
(4) I FFog womaE
In 1893, Tilak converted the Ganapati celebration into a public ceremony by drawing
inspiration from the
(1) Muslim festival of 1d
(2) Muslim festival of Mohurrum
(3) Durga Pooja of Bengal
(4) Festival of Yom Kippur
15. dTceg IANTEYEH WIAYd HieTd Jeietieh! ShIvedT TN ST Sheft ?

3.
.

.
K

(1)
(2)
(3)
4)

Tegra™ TGhTTR
&ftr e Sfegmiem
Hifter aferamed
fegeam Ared

¥, % A §

H, § A0 &

3, T MU g

3, % M 5

Which of the following industries were established by the Walchand Group of
companies prior to Independence ?

a.
b.
C.
d

(1)
(2)
(3)
(4)

Hindustan Aircraft
Scindia Steam Navigation
Premier Automobiles
Hindustan Motors

b, cand d
a,bandc
a,bandd

a,cand d

Poe] BTHRITS SR / SPACE FOR ROUGH WORK
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16. 3T frche 3oq Tl dgereRt 98 H 10 ShHThTeAT FHlq 374,

Feata 3 FTE! VBIE g1 S Tl / Fell T ARa. e g YeSavar, I Tergal Ig
UE HUHNE T FaIE HIeT SBI IR Hed. 3 Yarg 10 A=A JHia ITEam.
IR S0 10 SHHETRTEAT STEIq F6d | ToRd ?

(a) Wt (b) T (¢) R (d HuSm

(e) wfimN ) e (g) TMmes! (h) &H

1T€ﬁ11:

(1) T F TR

(2) VR g &

(3) ¥fr 9 s

(4) TS 10 SHHTHTAT JETd 318

Our cricketing God Sachin Tendulkar always sported jersey no. 10 !

Some of the soccer players too come with the touch of the divine — dribbling,
passing, scoring with a grace and beauty that takes your breath away. These are
some of the players who wore / wear jersey no. 10.

Who did / does not wear jersey no. 10 ?

(a) Messi (b) Pele (¢) Neymar (d) Maradona
(e) Baggio (f) Kaka (g) Ronaldo (h) Rooney
Options :

(1) Pele and Ronaldo
(2) Neymar and Rooney
(3) Baggio and Kaka

(4) All wore/ wear jersey no. 10

HeeT BHTATS ST / SPACE FOR ROUGH WORK P.T.O.
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17.  edie sidia WTTA S SR WA 91 09 98 SOEE dOaE 9 w30 8 2

(1) 1°9. T 32 Hewen

(2) 1° 9. R 64 Hiewen

(3) 1°9. T 40 Hicten

(4) 1°%. o 80 e

What is the average increase of temperature with increasing depth in the interior of
the earth ?

(1) 1°C for every 32 metres
(2) 1°C for every 64 metres
(3) 1°C for every 40 metres
(4) 1°C for every 80 metres

18.  WiTesT Tt @refiar faemmen fomm =
3. ToRes arareRe
¥ Y%k A8 U
% —30°%. d —100° /. AIHE
3. HEIY g T ITR

e faurmieh sivdt faum st smed ?
(1) Famfrs (2) FaAMTSE
(8) Hanfursg (4) 3IFamfor g

Consider the following statements about Mars :

a.  Thin atmosphere

b.  Dry river bed

c.  Temperature ranges from — 30°C to — 100°C

d. Phobos is the only satellite

Which of the above statements are correct ?

(1) aandd (2) bandd
(3) candd (4) aandb

FHoedT BN SR / SPACE FOR ROUGH WORK
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19. TggE frevagdl wrcfiets v 78 fawdl areders o #d ?

(1) fufafed (2) A

(3) e 4) foum=

Which of the follbwing rivers crosses an extensive desert before it reaches the sea ?
(1) Mississippi (2) Amazon

(3) Colorado ‘ (4) Beas

20. Wreflerdsht wivT T SaregEst aatid 7787 ?
(1) SwigEH R
(2) k™
(3) TEh
4) we=n
Which of the following features is not related to volcanic activity ?
(1) Geyser
(2) Batholith
(3) Dyke
(4) Fold

21, wexEdl Rgemhd widied HaEER il gHa UEEr iy g foorft s =&
(1) F==
(2) st
(3) ot iy
(4) Wi T
The National Hindu Radicals who were supported by were victorious at the
Allahabad meeting of the Central Khilafat Committee.
(1) Tilak
(2) Gandhiji
(3) Ali brothers
(4) Motilal Nehru

FTET BTHIATS! TR / SPACE FOR ROUGH WORK P.T.O.
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22.  gaul sidier (Golden Revolution) Esig 3.
(1) 379 39T (2) 79 3dqRA
(3) uyAfdHT UTeH (4) FereaTE
Golden Revolution is related to .
(1) Food production (2) Milk production
(3) Beekeeping - (4) Flower production

23. 6 U@ 1930 TS MeSHH wETwdt A wiaT wEwTN Jeaden gear hefl, e a8
6 TRl 1930 &1 HERIST T HE$<AT T Te3aESIET AR Sl

(1) <8I
(2) oS
(8) Tt et
(4) =iOd

Gandhiji inaugurated the Civil Disobedience Movement on 6th April 1930, at
Sabarmati; the Movement was simultaneously inaugurated in Maharashtra at
, a suburb of Bombay, on 6th April 1930.

(1) Wadala

(2) Vadibundar
(3) Vile Parle
(4) Andheri

24, 9 N IATEAE TR 8 TR I TSI 8.
(1) srEm i fagr

(2) fomr 3nfor s wew

(3) Al iUl arfiresTg

(4) IR onifor feumaer wew

India has monopoly in the production of Muga Silk. It is prbduced in the states of
(1) Assam and Bihar

(2) Bihar and Uttar Pradesh

(3) Karnataka and Tamil Nadu

(4) Kashmir and Himachal Pradesh

FoegT HHENITS SR / SPACE FOR ROUGH WORK
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25. AN YU I Ted HE Wehd E A R HOGr § A N S Thd TG A G AT e
FE” Th I e U S gt T s E
& RN R A R E R
¥, SRIAHR .h. AW
%, TCEHE AGEEH WE
3. Tohohet Afe dgaa
(1) fa.%.wE. sm (2) &1 UHE
(3) aeHe wwad) (4) wEw anf
“Yoga helps us cure what cannot be endured and endure what cannot be cured” said
a Yoga Guru of whom the following are the disciples :
a. Violin maestro Yehudi Menuhin
b.  Cartoonist R.K. Laxman
c.  Actor Naseeruddin Shah
d. Cricketer Sachin Tendulkar
Name the Yoga Guru.
(1) B.K.S. Iyengar (2) Baba Ramdev
(3) Satyananda Saraswati ~(4) Mahesh Yogi
26, YRGS GEfiedshl HIvd TT TIH HeATE T FeA 3R ?

(1) srEvm=e 9eu

(2) BT

(3) fRuraa wew

(4) TSIUG

Which of the following states of India became the first carbon free state ?
(1) Arunachal Pradesh

(2) Chhattisgarh

(3) Himachal Pradesh

(4) Gujarat

T HITATS ST / SPACE FOR ROUGH WORK P.T.O.
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27. =% mdfid <A ok AT Imfos i Icmarem SRmEE g Wde sAfeemei
YOI 3TET=AT ShivTea Segi! smfemre w3 foepeft 2
(1 “wgeddfary”
@2 “G=”
(3) “soy 378 31 B g W e’
(4) ‘i = g A |
At the event of the Global Citizen Festival at Central Park, New York at the end of
Narendra Modi’s epic speech, what seems to have pleased the Americans most ?
(1) . “May the force be with you”
(2) “Namaste”
(3) “Thank you once again for having me over”
(4) “God bless you all”
28. @AY BV YSK HANH TSR F7g7 ?
(1) <EET 4R (2) o= 9B
(3) 3= Yo (4) free= wBR
Which of the following is not an example of tilted plateau ?
(1) Deccan Plateau - (2) Arabian Plateau
(3) Brazilian Plateau (4) Tibetan Plateau
29, WYl BT JSITH FAR A= Yfer TRorard ?
(1) =feor smfte (2)  afh
(3) iy 4) Fu
Which of the following continents is known as a land of thousand languages ?
(1) South America (2) Africa
(8) Asia (4) Europe
30, ot #R (cgF HicTnel) ST GURT THAER THAt Bl TIEA NeATtad q1 it

AT ST TR i uefanm “firfiend” fmfm e 2
(1) i 99 () I AR
(3) Wl wEwE (4) fot it

The Mini car was a desigh classic of 60s. Taking inspiration therefrom, who invented
in 60s another revolution on the streets, “The Miniskirt” ?

(1) Coco Chanel (2)  Yves Saint Laurent

(3) Mary Quant (4) Pierre Cardin

FeehT BTHIRITS! STRTT / SPACE FOR ROUGH WORK
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31. Wl YRATdE 13 T T ARd. wndie 12 fsanft saifaffn smg. whr feemft &, & s

HIoTet ?

(i) @AY, JAEEE, T

(i) Afeasrod, fiRtew, sTywew

(iii) TETRIATR, IHH, HEATT

(iv) SAHRI, AN

(v) HEA, TES

(vi) STHTATY, SFg AIFOT SHIfSR

(vii) feredvar, amrom], Iawew

(viii) THYR, gey, AHATTG

(ix) SITHIR, HERTE

(x) Iy, WA, AERTE

(xi) TR, 3ffer, TN

(xii) TOITR, TAN, TERTE

(xiii) SfTeTeRt, BT, TR

gy

(1) =R (2) A (3) THTR (4) fomavar

Below are recorded 13 sites from India, 12 of which have ‘Jyotirlinga’. Name the site

which does not have a ‘Jyotirlinga’.

(i) Somnath, Prabhaspattan, Gujarat

(i) Mallikarjun, Srisailam, A.P.

(iii) Mahakaleshwar, Ujjain, M.P.

(iv) Onkareshwar, M.P.

(v) Kedarnath, Uttarakhand

(vi) Amarnath, Jammu and Kashmir

(vii) Vishweshwar, Varanasi, U.P.

(viil) Rameshwar, Setubandh, T.N.

(ix) Trimbakeshwar, Maharashtra

(x) Vaidyanath, Parali, Maharashtra

(xi) Nageshwar, Aundha, Maharashtra

(xii) Ghrishneshwar, Ellora, Maharashtra

- (xiii) Bhimashankar, Khed, Maharashtra

Options :

(1) Mallikarjun  (2) Amarnath (3) Rameshwar (4) Vishweshwar
FHoegT HHTETST ST / SPACE FOR ROUGH WORK P.T.O.
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16 A
ST S S Haia Sied o712,
(1) =&t (2) foes
(3) "= (4) ot
have the largest number of species in the world.
(1) Plants (2) Insects
(3) Humans (4) Animals

33. I QA foumIh ®iva gere o1 ?

H.

(1)
(2)
(3
(4

T Titd! (Fifegge srawe) Ja fagm wfidt (Afraifisg srmett) sveft e 3@
TR AT / gt goed (Tedtde 7)) e,

wmﬂmwmmmﬁmwmﬁqﬁmmﬁ?ﬁﬁww
AT T

Had 3
*ad §
AT T
HEAEIGE

Which one of the following two statements is incorrect ?

a.

(1)
(2)
(3)
(4)

The Constituent Assembly turned into Legislative Assembly which got
transformed into Provisional Parhament of India.

On the day the Constitution was being signed it was drizzling outside and it
was interpreted as a sign of good omen.

Only a
Only b
Bothaandb

Neither a nor b

FoeT BTHIRITS! STATT / SPACE FOR ROUGH WORK
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34, WEiTUEh! HIvAT IR YA STHHISHET §9 FOAE T AT HRUNYE Sl ?

(1) AR (2) TEH SEATFES
(3) I SRS (4) =0«
Which of the following gases is primarily responsible for eutrophication of water
bodies ?
(1) Nitrogen (2) Sulphur dioxide
(3) Carbon dioxide (4) All the above
35. St @ ;
&Y # 1 &Y 7. 2

(Tt gael F5) (%)
. g G ot L 1991
. UFiEl EE guEl Je I. 2000
F. 39 ohush FE= gad wE IL 1986
T, TRUIAER! FHwE AN HES IV. 1998

3H 9q < g
1 IV IT Im I
(2) 11 v I 11
@ m 1 I IV
(4) I I Iv 1II
Match the following :

List 1 List 2
(Environmental Legislation) (Years)
A. Environmental Protection Act L. 1991
B. Scheme of labelling of environment II. 2000
friendly products
C. Biomedical Waste Management Rules III. 1986
D. Municipal Solid Wastes Management Rules IV. 1998

A B C D
(1) IV II Inr I
(2) III v I II
3) III I Im 1
(4) 11 I Iv. 1I

PHTET BTHTITS! TR / SPACE FOR ROUGH WORK , P.T.O.
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36, R A R gee ok ?
A AW F6f IR AR A ded! fae el @ft, Wy U9 wee e
HOITETS! ot T T g digd ot

T gy Sl ar Rl 1885 7k stfawt wwdt T 3% Srafed.
(1) Had A (2) HaA T
3 IR ATT (4 TR A

Which of the following statements is incorrect ?

a. Surendranath Banerjea had been selected into the Indian Civil Service but
gave it up on his own so as to form a political association.

b. Surendranath Banerjea convened an all-India conference at Bombay in
December 1885.

(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb

37. Ydia g9 aumiteh Hivrd st g ?

. YRAWIE SgARl WETE TSA Seargd faunT=a wah REE wl g% sAfan S
TR

¥,  YRAW %I Tad:=AT G idl (W R 9 g% TR el IS ek,

(1) *as 31 A AR |

(2) Haes § AT AR

(3) HIUE T T

(4) TR A AR

Which of the following two statements is correct ?

a. In most parts of India it is illegal to home-brew without a permit from the State
Excise Department.

b. Home-brewing is permitted (without a permit therefor) only for self-use in
India.

(1) Only ais correct

(2) Only b is correct

(3) Neither a nor b is correct
(4) Both a and b are correct

Poed] PIHTAIS! SR / SPACE FOR ROUGH WORK
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FEAE BN TG 30 (37 3 AR Q1) IV GROT=A S IRUhT Teh TR ?

(1) Fgo Frem Frlwd 1952

(2) = wel FEwE

(3) U AT R0 2000

(4) 7N SiwEE 9 2011

To encourage two child norm was one of the two main objectives of
(1) Family Planning Programme 1952

(2) Twenty Point Programme

(3) National Population Policy 2000

(4) New Population Policy 2011

39.

2000 =T TS FAIhEEAT GIUMTHR F3AT INGAq 3uewt quret eieaed fRr gvae 3fese

TE ?

(1) 2046 BT
(2) 2050 FITEA
(3) 2049 T
(4) 2047 Freadd
As per the National Population Policy 2000, by which year is it aimed to stabilize the
population in India ?
(1) ‘ Year 2046

(2)  Year 2050

(3) Year 2049

(4)> Year 2047

PTedT BIHTAIS! SR / SPACE FOR ROUGH WORK : P.T.O.
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40. %Wﬁﬂm@ﬁaﬁuﬁwwmmm@ﬁ?ﬁm

(D
(2)
(3)
(4)

TOE E, Rafirr Teredt it Scas/firszend
Toreror, snfdfes Tgwm enfor enféfer gemumT=h wrem=ht

.wmam’a, wefiem ST yHaTEIdd S8

FOTIH! THG ATE

Gender Inequality Index includes three critical dimensions for women which are

(D

(2)

(3)

(4)

Life expectancy, Educational attainment and Income
Education, Economic participation and Control over economic resources
Reproductive health, Empowerment and Labour market participation

None of the above

41. WZOllwmmmﬁaﬁwﬁ@rﬁmmww 0-39
‘SHWB"IT%' 2 e 3 goffaa 6

(1)
(2)
(3)
(4)

7 geedte wEde g e et niE uefavatard) BRar wEl TR s Al
vt T SR B @t TR wie 1R
WEleRTE a6 el AR

F{eTueh! HIvATE! T8t

As per the Census 2011, correlation between urban population and percentage of

people below the poverty line is —0-39. It indicates that

(1)

(2)
(3)
(4)

The pattern of urbanization did not make much of an impact on reduction of
poverty

Urbanization has made deep impact on poverty reduction
Urbanization has resulted in increase in poverty

None of the above

eedT HHETATS! ST / SPACE FOR ROUGH WORK
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42.  Tyigo g9 S 2009 =1 &I 3L WIS HIvT R ?

(D
(2)
-3
(4)

Frerar fger

a1 SAT9eh JHTOMG AT ATavdeh s
67 14 FINTCIS | GAMT Hedl F Hiwd fareqor
T« vd

What is the main purpose of Right to Education Act, 2009 ?

(1)
(2)
(3
(4)

Eradication of Illiteracy
Universal Elementary Education to all
Free and Compulsory Education to all children of 6 to 14 years of age

All of the above

43, YR ST T4 Foedl Aeha JUR TS TEHWH! g9 THTAhEd A Ahihe THH
BTG H0ATH Ffdee oars i fershne ?

(1)
(2)
(3)
4)

nféwat 36
IféHhet 46
anfésa 39
T e TE

Under the guidelines of which Article of the Indian Constitution have the State

Governments accepfed the policy of prohibiting the transfer of land from tribals to

non-tribals ?

(D
(2)
(3)
(4)

Article 36
Article 46
Article 39

None of the above

FoegT HHTTS! AR / SPACE FOR ROUGH WORK P.T.O.
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44, v fEed e gem FfAS fowmme srmeedt feam fdt wgamer gaviber e
HATETIH IR ?
(1) 85 T
2 115%Hd T
(3) 200 T

(4) TOATH TR TR

Note issuing department of RBI should always possess a minimum gold stock worth
(1) ¥ 85crores

(2) T 115 crores

(3) ¥ 200 crores

(4) None of the above

45. 91 9 10 =47 Y=aTNes JieHd WRatdd fohrad ardien anfis et &1 gian

(1) 4% 9 5% A
(2) 5%d T% ITFH
(8) 4% 9 7% ATHR
(4) %9 5% THH

Annual rate of inflation during 9t and 10™ Plan in India was
(1) 4% and 5% respectively
(2) 5% and 7% respectively
(3) 4% ’and 7% respectiveiy

(4) 7% and 5% respectively

Foedl BIHTATS! SR / SPACE FOR ROUGH WORK
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46. TST GLHRE Hgmaad w64 I TeaErdt fafgefia I 3teh a0 @ oo et Jemd
fr g ?

(1 10 tmaﬁ% RIEE]
(2) &t e Ao

(3) 1230t vaTie A
(4) 11 geanfis Feen

Which Five Year Plan had a unique feature to lay down specific targets for each
state in consultation with the State Government ?

(1) 10™ Five Year Plan
2) 8" Five Year Plan
3) 12 Five Year Plan

4) 11* Five Year Plan

47. OHA TH/qTEEE g RS
(1) SR S 5 oo Tgo STereh
(2) UH qufd FHE STereh a1 Jaq SIeih
(3) FTHFIMII X
(4) Tl 9yul SHehIeRTd Siiad SEet et Jasma andsh

Total Fertility Rate refers to

(1) The number of children a woman has given birth to since marriage

(2) Total number of children born minus total number of children that died in a
given year

(3) Birth rate minus Death rate

(4) The number of live births by a woman during the entire reproductive period

FoegT BITATS! ST / SPACE FOR ROUGH WORK P.T.O.



V05 24

48. =EER WA e, Al fhdt aawEER 9 S ?
(1 0° 3. (2) -20°9.
(3) 4°4. . 4) -4°9.
Butter is stored at what temperature, in a commercial cold storage ?
(1) 0°C (2) -20°C
3 4C 4) -4°C

49. AU GERAH YA G0 ST 9ATAT i T ?

(1) WR (2) "MR

(3) WK (4) fa=r

The laser system which is used for monitoring the environment is called
(1) Radar ' (2) Sonar

(3) Ledar (4) Lidar

50. HoaTAT 9 WISHT=AT [Iquehid digEIehoTe  quifehiqun SRufd e fadees v ?
(1) iRy |
(2) difThAra SAffaaes
(3) o |
(@) e e
The key enzyme involved in enzymatic browning of fruits and vegetables is
(1) Peroxidase
(2) Polyphenol oxidase
(3) Catalase

(4) Cholesterol oxidase

PTTgT HIHNIS! IR / SPACE FOR ROUGH WORK
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51. SR qREaT S FRwH @6 e wefi Y SR,
H R IwmE ‘
F. A T TERT
F. AU TERY
g ST
(1) & A
2 A, g

(3) e 3 MM &

4) HH S

TV programmes can be transmitted all over the world, with the help of
a. geostationary satellites

b.  space wave propagation

c. ground wave propagation

d. longitudinal waves

(1) aonly

(2) a,bandc

(3) aandconly

(4) donly

52. Gifg B8 Yhiomandl wata siferes amateft I 9 T vt fhew sl a2
(1) diferefredi | (2) uifereerda
(3) uifertuferm (4) ifA fogmse FIIsS

The most common and least expensive plastic film used for packaging of solid food
materials is

(1) Polyethylene (2) Polystyrene

(3) Polypropylene (4) . Poly vinyl chloride

o] BHETATS! ST / SPACE FOR ROUGH WORK P.T.O.
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53. afofia femor HYH IR IS Wk A7E0.
HqA. HE
CANE =11
F. FRINIEE
8. e Hice (Juq)
(1) SFa A ' (2) SFE
(3) &, % oMfTs (4) waa 9 MM B

Ultraviolet rays cannot pass through _
a. glass
b. quartz

c. fluorite

d. rock salt
(1) aonly (2) donly
(3) b,candd (4) banddonly

54.  GeUiOREE SR ST &1 & A= 5T Jear SSufiqd S AhRd ?
(1) agi
(2) HgF HEARm
(3) Tawrerh
(4) sl Tl TR

In an optical instrument like telescope, the combination of field lens and eye lens
forms

(1) an objective
(2) compound eye-piece
(3) magnifier

(4) None of the above

HTEAT BTHIIETS! SR / SPACE FOR ROUGH WORK
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55. Uediviadl adareR wad RO IumE By 3aehl iAW 391 TR, YeeteAn waEldd Sie}
e e Fae 39t foeft wfgs 2

Ey
(D e

Ey
(2) 5
3) Ey

4) 2F,

A satellite having circular orbit around the earth has a kinetic energy E,. What is
the minimum amount of energy to be added so that it escapes from the earth ?

=t

k

(1) 1

=

k

(2) >

3) Ey

(4) 2B,

56. T 2006 AN QIEAIdsh! o] TgTelT/ AR U8 AHe 91d 7787, Wg 9¢i8 TBVH
HSEE Iq ?

(1) =4
(2) I&|
(8) U=
4) =&

Which of the following is not considered as a planet of the solar system but called as
a dwarf planet since the year 2006 ?

(1) Mercury
(2) Uranus
(3) Neptune
(4) Pluto

FHoedT BTG ST / SPACE FOR ROUGH WORK P.T.O.
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57.  SAlqHIvaE-HEY SRS FIvrd T fFehT sSraal ?
| (1) s

(2) T TR

(8) HIEH g

(4) W

What is the role of oxygen in aerobic respiration ?
(1) Electron donor

(2) Electron acceptor

(3)  Proton donor

(4) Proton acceptor

58.  Sifas® FRGEHE eash! HUd TERA JaEeR 376 ?
(1) < r® I (2) A
(3) RS T (4) TR AT

Which of the following chemicals is responsible for the aching of muscle after
vigorous muscular activity ?

(1) Lactic acid ' (2) Ethanol
(3) Formic acid (4) Ascorbic acid

59. Qe SHivar T s TR ?
(1) 7 foaa g7 — wetgden
(2) TTEN g3 — fstefet
(3) ToGT qF — Ewegda
4) frEe o= g~ e @

Which of the following matches is correct ?
(1) Dark yellow urine — Melanuria

(2) Colourless urine — Dehydration

(8) Bloody urine — Hematuria

(4) Greenish urine — Consumption of beet

FoedT BTG SR / SPACE FOR ROUGH WORK
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60. W] VAT AR a0 HOAE FfHEE ITaTd ...

(1) <Fsh AWK

(2) forTop ST

(3) Ty e

(4) FaHEGeT A

‘Agrimycin’ is used to control which of the following diseases ?
(1) Fungal diseases

(2) Viral diseases

(3) Bacterial diseases

(4) Mycoplasma diseases

61. UTIEEINE) 4@ o TEgR B WRTHEY pH Hed H19 sgd §id Sl ?

(1) 3Tchail — A — HAchall

(2) IATFA — 3IToehel — ATFA

(3) A — FTHaAl

(4) Hehdll — HFA

How does the pH change from the mouth to the anus in the digestive system ?
(1). Alkaline — acidic — alkaline

(2) Acidic — alkaline — acidic

(3)  Acidic — glkaline

(4) Alkaline — acidic

PTegT BIHTATS! AT / SPACE FOR ROUGH WORK - P.T.O.
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62.

30 A
GTeATeeh! WhIIERIC IV TR ?
(1) Hfem
(2) wicftagHem
(3) WA
4) T

Which of the following is a macronutrient ?
(1) Mg
(2) Mo
(3) Bo
4) Zn

63.

TIHIS WY FTEA TFhAT TR,
(1) 40% (2) 53%

(3) 45% (4) 55%

The percentage of carbon in glucose is
(1) 40% (2) 53%
(3) 45% (4) 55%

64.

QARSI FAETdT SR s F0ATEdd AR Féiad araielt el 31gd.

AT TR Tgeielier Teiuen A 3five THeadis—= 31med.

g aftwefl Seudiea wegEefla 3000 TRt MMed. SFEUTIET VAT WRT T&ld i
Syefies TEv[ ATRE At ?

(1 g . (2) @&

(3) WA (4) fomm

Plants have been used as healers and health rejuvenators since times immemorial.
More than half the drugs under clinical use owe their origin to plants.

The Glossary of Indian Medicinal Plants lists 3000 plants.

Which part of the plants is used most for medicinal properties ?
(1) Roots (2) Bark

:(3) Leaves (4) Seeds

T BIHFRITS ST / SPACE FOR ROUGH WORK
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65. eideh! v G IRETS IF-aR (3ifde-aw) dger Ted ?

(1) hfckrEm

(2) wifsam

(3) i

4) drE

Which one of the following minerals regulates the acid-base balance of the body ?

(1) Ca '

2 Na

3 K

(4) Fe

66. TEMH ygraTer SEARTE TWETUTE gEifaar i at =T
(1) AffFadisrs Afhesat
(2) fisiem sifirenat
(3) &N ARl
(4) faasdietn arfiemdt

The hygroscopic nature of chemical substance indicates that it is a good
(1) oxidising agent

(2) drying agent

(3) reducing agent

(4) complexing agent

67. TERISE WA WUt HUROT (GURON) Sa 1995 SATC TSudie W=l U Hal-argd] fiesreft
GTeie IV WIVIHT STe5d AVhEA e hadd Heil TS Wehd ?

(1) Sd949s : (2) TR T I
(3) U9 e "o (4) IO TH A

The Animal Preservation (Amendment) Bill 1995 of the Government of Maharashtra
which received Presidential assent a month before, excludes which of the following
animals permitting their slaughter ?

(1) Bulls and Bullocks (2) Cows and calves

(8) Female buffaloes and their calves (4) None of the above

FTegT BTHTATS! STFTT / SPACE FOR ROUGH WORK P.T.O.
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68. TERISCHY SRATE aTEUMHl Fel ot ?

(1) e (2) e

(3) wMaed . (4) SIS TR

Which river in Maharashtra flows all round the year (perennially) ?
(1) Narmada | (2) Kaveri

(3) Godavari (4) None

69. o T MY FleA
(1) .S, o (2) 3. AT
(3) 3. ®QHE (4) Em T
o-particles were discovered by |
(1) J.J. Thomson (2) A.Einstein
(3) E. Rutherford (4) Madam Curie

70.  TEH wed e o 2 7.
(1) 11U d 319
(2) 1¥Wad @ 31 fede
(8) 13t d 305
(4) 137 30Th@
The Financial year of a Co-operative organization is
(1) 1% April to 315 March
(2) 1% January to 315 December
(3) ot July to 30 June

4) 1% May to 30'" April

FoegT HIHATS! TR / SPACE FOR ROUGH WORK
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71.  YEIe TGO RV AT 1940 ALY VNG goed “fawm @ o @ e o wfiied
F& 1 “amt fomn foqm @ stg 9 fammnfar o stwet AR 2
(1) oo T
(2) TREEH <A
(3) frem R
(4) HRHFE
Which scientist from amongst the following in his article published in 1940 titled

“Science and Religion” argued that “Science without Religion is lame and Religion
without Science is blind” ?

(1) Albert Einstein
(2) Isaac Newton
(3) Niels Bohr

(4) Copernicus

72, HEEE @rod foue R @ ,
A A gEE TN TEE O 1954 e A e,
¥, agad gadft gu aewngr fifed wEem st 10.00 W TE an.
®. T SSHMIS HWTHG THNE A G YT 9 ehd TR
Fiatht H faam g o ?
1 & @2
3) 4) A TR
Consider the follc‘)wingv statements regarding the Parliament :
a. The provision for the Calling Attention Notices was first made in the year 1954.

b. Notices of Calling Attention have to be given by members in writing by

10.00 am.

c. A member can give not more than one Calling Attention Notice for any one
sitting.

Which of the above statements is not correct ?

(1) a 2) b

3) ¢ . (4) None of the above

ol HETATS! WA / SPACE FOR ROUGH WORK P.T.O.
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73. G fagm foemma =0

A, faemey fafufamma =mEreria qafdearsren e T,

q. WY SRR QAfeTaTe hivdiEl Fatey ATEl A SR e sah W

TRETYT 53 TR

(1) fagm F TR, < ghR

(2) fagm oF FHR, T R

(3) zrarg T =heE

(4) R fFam St

Consider the following statements :
a. In Britain, no judicial review of legislation is permitted.

~ Judiciary in India is not-as supreme as in the United States of America which
recognises no limit on the scope of judicial review.

(1) Statement ‘a’ is correct, ‘b’ is false
(2) Statement ‘a’is false, ‘b’ is correct
(3) Both the statements are false

(4) Both the statements are corréct

74. @Ela fFum feame
. fofew we f stforfaq o1,
g, foea 79 wug waiw TR
%, ffe v mate st aafas o,
Fheteh s faum gehre o ?
1 A (2) =
3) = (4) SIS HIUTAE TE
Consider the following statements :
a. The British Constitution is an unwritten constitution.
b.  In Britain, the Parliament is supreme.
c.  Britain has the most flexible form of constitution.

Which of the above statements is not correct ?
(1) a 2 b
3) c (4) None of the above

PTT BTG SR / SPACE FOR ROUGH WORK
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75. IR LWAvg WeAdi WRAE fhehe T 7 TR 2014 TS FEI Samed AEdid e
wmwmmmmﬁmmw?

(1) e smfsbepr
(2) sHeforn
(3) W
(4) s

Against which country did the Indian Cricket Team on 7P August 2014 equal the
world record of maximum number of six ducks (zero runs) in a test innings ?

(1) South Africa
(2) Australia
(3) West Indies
(4) England

76.  TEAHY T SO wegrle T oM Al o
(1) @t fomme
(2) ueEh o=
(3) SRR
4) few e
The Japanese terms ‘tsu’ and ‘nami’ in the word ‘Tsunami’ mean
(1) total destruction
(2) giant wave
(3) harbour wave

(4) violent wave

FeegT HTHTATS! SR / SPACE FOR ROUGH WORK P.T.O.
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77. %R H (Frederick Sanger) IHT g da31 WHH ATATIE Aleel TEhR 2091d AT Bral.
3 TR HEY S A AR 2

(1) 10 Iufue 31fies
(2) 10 IuiaeT wH
(3) 20 Iuiya 3tfees
(4) 20 FumET

Frederick Sanger was awarded the Nobel Prize for Chemistry twice. What was the
gap between the two prizes ?

(1) > 10 years
(2) <10 years
(3) >20 years

(4) <20 years

78.  “SImTen Weseln Hiwl, dret et 3R !;’%WWWW@%W?

~

(1) g
(2) WA

~

(3) ™I
(4) ifeEm

“Well played Blue, Red is the winner !” Where do we hear this remark of a referee
commonly ?

(1) Football
(2) Basketball
(3) Squash

(4) Boxing

FEeg] BT SR / SPACE FOR ROUGH WORK
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79. TS TEH TGN AT THUH HIV FHTAT ?

(1) TSS9

(2) Tsgufa

(3) I TR &I =AW
(4) TS =R SR

Who appoints the Chairman of the State Administrative Tribunal ?
(1) Governor

(2) President

(3)> Chief Justice of High Court

(4) National Judicial Commission

80. W™ TSTTETAT e T oA A =Fq ga.
(1) Tsgeeq= s A rera avTs FHaT 6 St hegre | e A9 AEd
(2) Teryd iR S HTT A9 ATEd steET R et 39

(3) W368Mmﬁwmqﬁwﬁﬁﬁmwmmw
PEREL I -

(4) TN §SA hall W19 Yohd T8l HI0T 1 ToTee-d1 W F{d T8

The ‘basic structure’ theory of the Constitution of India is implied from

(1) certain features of the Constitution are so essential to it that they cannot be
abrogated.

(2) fundamental rights cannot be abridged or taken away.

(3) the Constitution cannot be amended except in accordance with the procedure
prescribed in Article 368.

(4) the Preamble cannot be amended for it is not a part of the Constitution.

el MG ST / SPACE FOR ROUGH WORK - P.T.O.
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81.

38 : A

Tefierish! e G698 g9EEEn B, T 9 ArieYs WU e S ?
(1) wE=EEE (A.G.)

(2) T g mgerEdss (C.A.G.)

(3) WEWRIE (Secretary General)

(4) €HE HhN T (P.AM.)

Who among the following is known as the ‘friend, philosopher and guide’ of.the
members of Parliament ?

(1) Attorney General
(2) Comptroller and Auditor General
(3) Secretary General

(4) Parliamentary Affairs Minister

82.

2011 e SHTUHIER  WERISCTeAl  Sehaede] oear 3y Regaren

(1) e
(2) R
(3) INTETE
4) s

According to the 2011 Census, the population density of Maharashtra is equal to the
population density of which district ?

(1) Jalgaon
(2) Nashik
(3) Aurangabad

(4) Raigad

FHTTIT HTHRITS IR / SPACE FOR ROUGH WORK
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83.  WRATET YUH Hel el It Jeig I, U 43000 ATEA AR HE-q0 Forg Aw fowdl amefEn

3R ?

(1)
(2)
(3)
(4)

83 for .
93 fe .
103 fop 1.
113 T A,

Indias first six lane high speed track handling over 43000 vehicles a day — the
Mumbai-Pune Expressway, is a stretch of

(1)
(2)
(3)
(4)

83 kms
93 kms
103 kms

113 kms

84. T WEE RN GE™ 1957 T e, TF HEY S0 a¥ faue gHedd Wo aEd

B ?
(1)
(2)
(3)
(4)

1954
1955
1956
1957

Ramon Magsaysay awards were instituted in 1957. In which year did Ramon
Magsaysay die in an air crash ?

(D)
(2)
3
(4)

1954

1955

1956

1957

FHoeg] HIHNITS! W / SPACE FOR ROUGH WORK V P.T.O.
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85. W el W @ W1 TS W IR
(1) e
(2) T
3) feies
(4)
Cross country skiing is the national sport of
(1) Sweden
(2) Denmark
(3) Finland
(4) Norway

86. Wreia fagm fommma =
H.  TUHd: GO =l TERITCaE Aigd UZEAS Hgehq Ihd Togdl.
¥, SIERETRden 2007 WY YT Thal GERUT H0ATd AT,
Tt Hor/d faamA st IR/ 2
(1) oA
(2) SFad
(3) HFemry
(4) WU A

Consider the following statements :

a. Originally the use of thev National Flag by private persons was prohibited
except on National Days.

b. The Code was amended again in 2007.

Which of the statements given above is/are correct ?
(1) aonly

(2) bonly

(3) aandb

(4) Neither

FTegT HTTATS! ST / SPACE FOR ROUGH WORK
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87. T TR GEA 1961 TEY FiTel). IVl geus T A1 LEHIAT 3R 2 |
1 & 3ot TrE
@ @ o o I
(3) fegw™ Trgrm
4) & feg

Gyanpeeth Award was instituted in 1961. The newspaper group behind the award is
(1) The Indian Express

(2) The Times of India

(3) Hindustan Times

(4) The Hindu

88. WA ST v aw R A e, SR 7, 1906 It Frermw weier i s 9 v
FOTH HhId FE9H ST hehaa al 89 1921 78 HiIw affaear deshia wgren meht g
ST AT el ST T IV T 9g1 SIS HuarE gafad ?
(1) o< |
(2)
(3) wel

4) e

The Indian flag has evolved gradually. The first flag in india is said to have been
hoisted on August 7, 1906 in the Parsee Bagan Square (Green Park) in Calcutta. At
a meeting of the All India Congress Committee in 1921 a flag was brought to
Mahatma Gandhi. Gandhiji suggested addition of a strip. What colour strip did he
suggest ?

(1) Red

(2) Saffron

(3) White

(4) Green

Poeg] BTHNTS! ST / SPACE FOR ROUGH WORK P.T.O.
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89.  Hidey TS Tdx U 31Tad, S qoff fsfewr mmmsama &,

. ﬁ@ﬁmmmﬁvﬂww,v{@wmmw
EIEIGH

¥, HEIEY ST THHH FHTRIE ST el garedrd.

Tl B /@ Rum /Y e e /q ?

(1) %F H

(2) ®ad o

(3) Er AT«

(4) g e

The Commonwealth countries are independent states which were earlier parts of the
British Empire.

a. All of them recognise the Queen as the head of the Commonwealth only, not as
the titular head of their states.

b. Members of the Commonwealth have diplomatic officers in each other’s states
addressed as Ambassadors. ‘

Which of the statements given above is/are correct ?
(1) aonly

(2) bonly

(3) Bothaandb

(4) Neitheranorb

90. N S i Wi, o wea: A geREd! qEeH Sfdeie fored deen i
“9).um-31E] g 99 3R S AIVEGTE qeg R SaTATE] Hied Togd
(1) AR, A
(2) f&.%.1H. 3R
(3) Y. 4. uUe
(4) GyaEa f&m
Name the person who wrote his own epitaph before his death as below :
“Here rests a person who neither spared a man nor the God”
(1) R.K. Laxman
(2) B.K.S.Iyengar
(3) P.L. Deshpande
(4) Khushwant Singh

T BIHATS! SR / SPACE FOR ROUGH WORK
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91.  TEUYrAT SURIgTd SITideh ThTRIT higd TTY 3718 ?

(1) IWyYd

(2) e yd

(3) faga =
(4) w% g

The UN emblem consists of a global map as projected from
(1) North Pole

(2) South Pole

(3) Equator

(4) Tropic of Cancer

92, ITedfRR Al Jre gewid el faum fommaa =
3. T 1996 7 2004 T HSW T BT TRATH TaNEH &d.
. AHENR I8 A%, T TSIEHS e gHTEE 2.
et SR/ /3 s smR/T 2 |
(1) %Fa A
(2) ®¥A T
(3) Qg e
(4) T e
Consider the following statements regarding Atal Bihari Vajpayee :
a. He was the Prime Minister of India from 1996 to 2004, three times.
B. He was a member of the Lok Sabha eight times and Rajya Sabha thrice.
* Which of the statements given above is/are correct ?
(1) aonly
(2) bonly
(3) Bothaandb
(4) Neither anorb
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93. A 1 (TEETyRo A7) ° Fmia oft. S F. dEmw A9 I gl wHaEe.

g a3 37 sfeer udfie wrean smis mifver s wr g 2

(1) goeR?

(2) JusT|!

(3) AAHE 3!

(4) HIsT!

The creator of the Common Man — R.K. Laxman, made readers smile every
morning.

What was the title of his cartoon series appearing in The Times of India ?
(1) Who said it ?

(2) Yousaid it !

(3) All said it !

(4) None said it !

94, EH A= Hewia Erefie faum femma =
. ARSI TeHld B S Hald B oW TR 9 ;1 3= &3 1 =Y. 2 Yanm A

TR,
. oadied =l SemEEr 500 vam wH TR,
el o /el e /3 e TR /a7
(1) & A | (2) wH
(3) Qg 3 oM (4) T A

Consider the following statements regarding Vatican City :
a. It is a smallest country in the world in area, the area being less than 1 sq. km.

b.  The population of Vatican City is less than 500.
Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neither

Poed] BETATS! SR / SPACE FOR ROUGH WORK
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95. ffew sRgmam fheafusmraeda =l ot =inft wea Sae B ?
(1) e HHaei™
(2) 9 IS
(3) s fom
(4) faferam g

Who withdrew the Judicial Powers from the District Collector during the British
Rule ?

(1) Lord Cornwallis
(2) Warren Hastings
(3) Lord Ripon

(4) William Hunter

96.  HATET JEWEATS ST UIThEdT Hefiel @i feard & qevaaTgren fatrardie dersa Sate
Tk e @A 1 oA JEEhR WTH ST e a0 oIeh! Sledl 1. Heftal

Juwes Fedt aut=an amRa ?
(1) 17=
(2 21a%
(3) 2539
(4) 299

. Malala Yousafzai, a symbol of defiance and courage in the fight against terrorism in
the Pashtun tribal areas in Pakistan, is the youngest person to be awarded the
Nobel Prize. How old is Malala Yousafzai ?

(1) 17 years
(2) 21 years
(3) 25 years

(4) 29 years

PTe] BIETATS! ST / SPACE FOR ROUGH WORK P.T.O.
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97.  WRARH $ATaa U= ufgean seet gEand A .

India’s first Ethanol-run Bus has been launched in
(1) Mumbai

(2) Bangalore

(3) Nagpur

(4) Delhi

98.  #ff Wiewg e I g A wEa wgsiHEe! 2014 W FANS FTERR JER FAT. AT FEsa
(1) R ww afn i e A e, |
(2) Tig depde avi Srmarsh erfam wer @ ey
(3) fog awi=an Sgamemed avia oTg.
(4) Fig TepdE ol STvart TG oTees’ IR TR

Shri Bhalchandra Nemade has been declared winner of the Gyanpeeth Award for
2014 for his most talked about novel ‘Hindu’. The novel

(1) describes festivals of Hindus and their importance.
(2) - describes Hindu culture as a ‘beautiful art of living’.
(3) describes the rise of Hindu religion.

(4) describes Hindu culture as a ‘huge obstacle for living’.

FHTTYT HIHTATS! STRTT / SPACE FOR ROUGH WORK
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99. @Wwﬁwwmmm&gﬁ.mmmwm
ey g 7

(1) fawrsh

(2) %3 IYS (P &)

(3) wmhS

(4) w=H

Ebola is introduced into the human population through close contact with infected
organisms. Which one of the following, however, cannot be the one ? ‘

(1) Chimpanzee

(2) Fruit bat

(3) Monkeys

(4) Mosquitoes:

100, Joud Hem 10 ¥ 1994 Usht gfrw nlesra wom faga omeiet Tgreay ot Tsgreny groargdt
foret ot = e dre ?

(1) 278

(2) 2399

(3) 17§

(4) 13=§

Nelson Mandela became the first elected President of South Africa on 10" May,
1994. How many years did he spend behind bars before becoming the President ?

(1) 27 years

(2) 23 years

(8) 17 years

(4) 13 years
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®) SR Rt o Riftre Sl w= Bm (W %) w0, W%%wﬁﬁ?ﬁmﬁémmw
WWWW%WWW@@% I AHA TR 9 IR IHEIER AT
SR e ‘wlemed gom=n feIE Yisy weEEae Afufan-82” Al agdeR SET
WWHMWW@WWW/&WM@WW%QTW&TM
U B

(9) T YHUBRREE ENH fafed Ferel A HUeaHa ST & Ty T st TORTeheIaTt
U A WEE AR, W UHUTReTaTi Fvarge SHEERA - 9ot IRRufieRET W1
mﬁamm%:rﬁvwmmmmm. :

STl Ul

%. 201, G AT T HETETE B gerd: T B 2
(1) T gawE (2 vaTHs fermEmR
(3) TS TS U 4) TS M

1 AR A I 4(3) T TR W 3@ . M A1 YN W (3)) FEa.
T WIAETHI F99 3. 201 TS IWFAH @) 8 Ige N0 Srifhd HEd
TG0 AETEH IR,

1%21. O @ @ ®

I UG TEd I Edhd i T RATET qHET ITR-3hHTH & TRl Waader qiaeien
IR N W ATEHATREERE qaita gge iun Srifed ®ET rEardT. ETeRiET
T ShTeAT TS FTeU aTaard, Uf<er T W= U= 919® 4.

HeeAT BIHRATS! ST1TT | SPACE FOR ROUGH WORK



TR AT T Wt (q9) Tt witen-2015 g feAiw: 05 uhier, 2015
fas=: (W wl)

TERTY, Alhdal ARG ¥ Wl (Jd) ol Udie-300w” AT Wel UHieredl aws @eure
FRITETRTE (Authentic) TLTE / HEW IS UrBferetett w@lt fHagm, T8= qore afvu foem Se
AT SeRATerRT TR Feft e, AT SERATAhele Sl AfTH THAATT Aeliet, AHEHIA SATelett
e o Selt SR AR 9 e HIUETE UAEaER Al AR A, are FOAr g .

ettt - KEY
v ES = EL
ERIED HIA | aB | WGC | w&@D wHi® | §IA | 99B | ¥9C | €=9@D
1 4 2 1 1 26 3 4 3 1
2 4 2 1 3 27 1 2 3 3
3 3 4 1 4 28 4 1 4 4
4 1 1 2 4 29 2 3 2 4
5 2 4 3 4 30 3 3 1 1
6 3 3 4 3 31 2 3 3 4
7 2 1 2 3 32 2 1 3 4
8 1 3 1 4 33 4 1 2 3
9 1 # 3 2 34 1 1 4 1
10 1 3 3 1 35 4 2 4 2
11 4 1 3 3 36 3 2 1 3
12 1 3 1 3 37 1 3 2 2
13 2 2 1 2 38 3 4 3 1
14 2 2 1 4 39 # 3 4 1
15 2 1 2 4 40 3 1 4 1
16 # 1 2 1 41 1 1 1 4
17 1 4 3 2 42 3 3 1 1
18 4 2 4 3 43 4 2 2
19 3 4 3 4 44 4 1 2
20 4 2 1 4 45 1 4 1 2
21 2 1 1 1 46 1 3 1 #
22 3 1 3 1 47 4 3 3 1
23 3 1 4 2 48 2 4 4 4
24 1 2 4 1 49 4 2 4 3
25 1 3 4 1 50 2 1 1 4

-1- dt. 06" July,2015
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